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1.
The following table gives the aggregate demand and aggregate supply schedules in February 2010 for a particular country. (Ignore the AD2 and AS2 columns until question (d) below and AD3 until question (h).)

	Price level
	Aggregate demand

(£ billions)
	AD2
	AD3
	Aggregate supply

(£ billions)
	AS2

	  95
	1000  
	1070
	1120
	  950
	  970

	100
	970
	1040
	1090
	  970
	  990

	105
	950
	1020
	1070
	1000
	1020

	110
	930
	1000
	1050
	1030
	1050

	115
	915
	  985
	1035
	1060
	1080

	120
	900
	   970
	1020
	1100
	1120


(a)
Draw the aggregate demand and aggregate supply curves on the following diagram, labelling them AD1 and AS1.
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(b)
What is the equilibrium level of national income?
£970bn

(c)
What is the equilibrium price level?
100

Assume that over the next 12 months aggregate demand rises by £70 billion at all price levels and that aggregate supply rises by £20 billion at all price levels.

(d)
Enter the new figures for aggregate demand and aggregate supply on the table in the columns AD2 and AS2.
See table

(e)
Draw the new aggregate demand and supply curves on the diagram, labelling them AD2 and AS2.
See diagram

(f)
What is the new equilibrium level of national income in February 2011?
£1020bn

(g)
What is the rate of inflation in February 2011?
5% (Price index goes up from 100 to 105)
Assume that over the following 12 months aggregate demand rises by a further £50 billion at all price levels but that there is no increase in aggregate supply beyond AS2.

(h)
Enter the new figures for aggregate demand on the table in the column AD3.
See table

(i)
Draw the new aggregate demand curve on the diagram, labelling it AD3.
See diagram

(j)
What is the new equilibrium level of national income in February 2012?
£1050bn
2.
What would be the effect of each of the following events on actual and potential economic growth? (Assume no other changes take place.)


(a)
A reduction in the level of investment.
Actual growth: fall



Potential growth: fall

(b)
People save a larger proportion of their income. 
Actual growth: fall



Potential growth: rise

(c)
Increased expenditure on education and training. 
Actual growth: rise



Potential growth: rise

(d)
The discovery of new more efficient techniques which could benefit industry generally



 
Actual growth: no effect



Potential growth: rise

(e)
A reduction in interest rates. 
Actual growth: rise



Potential growth: rise
(because of higher investment and hence increased production capacity in the economy)
3.
The following diagram shows a simple model of economic growth. Assume that the economy has a capital stock of K0.
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(a) What is the level of total investment?
I0 (point b)
(b) What is the level of net investment?

I0 – D0 (points b – c). D0 has to be subtracted for capital depreciation
(c) What is the current level of national income?
Y0

(d)
Explain the process whereby national income increases? The net investment of I0 – D0 leads to an expansion of the capital stock and hence to a rise in national income. As national income rises, however, diminishing returns to capital take place (the Y and I curves get less and less steep). Eventually all the new investment is taken up with replacing worn-out capital (it all goes on depreciation) and national income stops rising. A steady state has been reached at Y1 and K1.
(e)
Will national income go on rising for ever? Explain. No (see answer to (d)).
(f)
Now assume that there is an increase in the rate of saving and investment. Illustrate the effect on the above diagram. The I line will shift upwards and a new equilibrium will be reached where it crosses the D line.
(g)
Why will national income not go on rising for ever as a result of this higher rate of investment? Because all the extra investment will be eventually absorbed by depreciation (see answer to (d)).

4.
The following diagram is the same as in the previous question. This time assume that there is a technological advance that has a significant effect on the economy.


[image: image2.wmf]Capital stock (

K

)

K

1

K

2

Y

2

Y

1

Y

1

D

I

2

I

1

f

g

p

n

Output (

Y

), Investment (

I

),

Depreciation (

D

)

h

Y

2

New equilibrium


(a)
Assuming that the technological advance is a ‘one-off’, illustrate its effect on long-term equilibrium output on the above diagram.
See above diagram.


The technological advance increases aggregate supply and hence shifts the Y curve to Y2. The new equilibrium is at point p.
(b)
If this is a single technological advance, will it result in an increase in:


(i)
The short-run rate of growth?
Yes


Explain. The movement from Y1 to Y2 represents short-term growth

(ii)
The long-run rate of growth?
No


Explain. Once Y2 has been reached, this is the new steady-state equilibrium. There will be no further growth unless technological progress were to continue.

(c)
How would you illustrate technological progress over time in the above diagram?



By continuous upward shifts in the Y and I lines causing continuous increases in output.

5.
According to endogenous growth models, technological progress and the adoption of new techniques depend on a range of endogenous factors. Which of these would be included?


(a)
The availability of finance for research and development
Yes


The greater the availability of finance for R&D, the more conducive will this be for technological progress and hence long-term growth.


(b)
Scientific discoveries
Possibly



These would not be included unless they were the direct result of research within the country that had been stimulated by a climate (financial or institutional) conducive to research.


(c)
Tax breaks for firms that invest in new technology
Yes



As (a) above, since tax breaks will encourage R&D.
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Answers to Workshop 9


Aggregate Supply and Growth
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